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SESSION I
SECTION I – LANGUAGE COMPREHENSION (15 x 1 = 15 points)
Which of the following sentences best expresses the meaning in the given sentence?

1. The origins of nuclear medicine stem from many discoveries, most notably the discovery of x-rays in 1895.
A) It took a lot of scientists to identify x-rays in 1895, which was one of the remarkable discoveries that led to nuclear medicine. 
B) That scientists were able to observe x-rays in 1895 is remarkable, and this event helped bring about nuclear medicine.
C) Nuclear medicine emerged as a result of a number of advances, the most noteworthy of which was the detection of x-rays in 1895.
D) 1895 is an extremely important year in the history of medicine as x-rays were proven to exist, but nuclear medicine was not developed until other discoveries took place.

2. The first cure using nuclear medicine was developed in 1946, when a thyroid cancer patient's treatment with radioactive iodine led to complete disappearance of the cancer.
A) In 1946, radioactive iodine enabled a patient with thyroid cancer to completely get rid of cancer, which was the first successful treatment using nuclear medicine. 
B) In 1946, a new type of nuclear medicine using radioactive iodine was attempted, and this treatment was eventually found to be effective for patients with thyroid cancer.
C) Nuclear medicine has been the first choice of treatment for thyroid cancer patients since 1946, when radioactive iodine was found to completely overcome this form of cancer. 
D) One of the most amazing features of nuclear medicine is its ability to use radioactive iodine to deal with thyroid cancer, which has been nearly eliminated as it has been treatable since 1946.

3. One form of nuclear medicine is nuclear imaging, in which a radioactive substance that has been put in the body is observed by special cameras as it moves through the body.
A) Special cameras that can spot radioactive material in the body are used in nuclear medicine due to improvements in nuclear imaging. 
B) An injected radioactive substance moving through the body can be tracked by special cameras using nuclear imaging, which is a type of nuclear medicine.
C) The radioactive substance used in nuclear imaging, a form of nuclear medicine, can be seen by cameras that are able to move around inside the body.
D) Nuclear imaging, a kind of nuclear medicine, is risky because the radioactive material followed by special cameras may harm the body when moving through it. 

4. Today, there are about 100 nuclear medicine imaging procedures, which provide information about every organ system.
A) Each organ system that the nearly 100 nuclear imaging procedures can give data about is now understood clearly. 
B) The almost 100 types of nuclear medicine imaging procedures increase knowledge about certain organ systems.
C) The variety of nuclear medicine procedures, of which there are now about 100, has led to the discovery of new organ systems.
D) The nearly 100 nuclear medicine imaging procedures which are now available reveal information about all organ systems.

5. It is thought that the Egyptians possibly domesticated cats about 4,000 years ago when plentiful rodents attracted the cats to human communities.
A) The large number of rodents found in Egyptians homes would certainly have appealed to cats almost 4,000 years ago.
B) On account of all the rodents in their dwellings, the Egyptians could have brought domesticated cats into their homes about 4,000 years ago. 
C) Cats may have first become pets nearly 4,000 years ago when they came into Egyptian settlements due to the appeal of the many rodents.
D) The Egyptians should have realized what was attracting cats to their towns around 4,000 years ago was the great number of rodents. 
6. While cats were once valued mainly for their hunting abilities, they are now liked for their companionship.
A) Cats would hunt amazingly well; however, they lost this ability when they made friends with humans.
B) Their skill in hunting used to be cats’ most appreciated quality, but now their friendliness makes them valuable.
C) Although cats have become valuable due to their proficiency in hunting, they would be loved even more today if they were friendlier. 
D) At some times it was hunting that made cats dear to humans; at other times their closeness to people would cause them to be valued more highly. 

7. Cats have a reflective layer in their eyes, known as the tapetum lucidum, which magnifies incoming light and allows them to see much better than humans in low light.
A) The tapetum lucidum is a reflective layer in the eye found only in cats, and its ability to make incoming light stronger is why cats have the best night vision.
B) When there is little light, cats can see many times better than humans because their tapetum lucidum is better than human’s, so a greater amount of light enters their eyes.
C) The reason that cats have superior vision to humans in low light is their tapetum lucidum, the reflective layer in cats’ eyes which increases the magnitude of light reaching the eyes.
D) Humans have limited vision in low light while cats see even better in low light than strong light because of the tapetum lucidum, a reflective layer in their eyes which significantly increases light coming in.

8. Cats generally hate water because their fur does not insulate well when wet; however, the Turkish Van has fur that is water resistant and, as a result, generally likes swimming. 
A) Unlike a typical cat which strongly dislikes water since its fur cannot insulate it when it’s wet, the Turkish Van usually enjoys swimming since its fur resists water.
B) In contrast to cats that cannot stand water, the Turkish Van enjoys it because its water-resistant fur enables its body to stay warm and dry even in the coldest conditions.
C) The Turkish Van is a type of cat which is comfortable in the water on account of its water-resistant fur, which also keeps this cat much warmer than the fur of a typical cat.
D) The Turkish Van is different from other cats not only in having fur that resists water but also in its skill in swimming, which is much greater than cats whose fur cannot insulate them.

9. Two-thirds of adults in developed nations fail to obtain the nightly eight hours of sleep recommended by the World Health Organisation (WHO).
A) Just one-third of adults know that the WHO states that they should be getting eight hours of sleep every night.
B) Two out of three adults in developed nations do not meet the guideline of eight hours of sleep a night which was set by the WHO.
C) Even though the WHO suggests eight hours of sleep per night, two out of three adults in developed nations think that much sleep is unnecessary.
D) The WHO complains that their standard of eight hours of sleep per night is only followed by one-third of adults in developing countries.

10. The number of people who prefer to go to bed early and wake up early is slightly greater than the number who prefer to stay up and get up late.
A) People are a bit more likely to prefer an early bedtime and rising time rather than a late bedtime and late rising time.
B) Staying up and getting up late can affect the body negatively, so most people prefer to get to bed and get up on time. 
C) Although an increasing number of people are going to bed and rising later, a majority of people still prefer getting to bed and rising early.
D) Only a small number of people choose to go to bed and start their day early, but this gives them an advantage over those who keep a late schedule.
11. Because the brain stores memories during sleep, not getting enough sleep prevents people from remembering what they have learned and experienced during the day.
A) People who sleep more focus more on what they do and what they study; thus, not getting enough sleep will lead to forgetting much of what has been done.
B) Sleep is the time for relaxing the brain, so if people do not sleep enough, they will be anxious and have a hard time remembering what they did and learned.
C) Sleeping too little or too much limits what people can remember; thus, their brains are unable to store what they study in class or what they do if they fail to get the right amount of sleep. 
D) The brain stores what people have learned and experienced in the day as the body sleeps, so getting insufficient sleep keeps the brain from remembering these things.

12. Neighborhoods that lack sufficient trees have been shown to have a greater incidence of crime than greener ones.
A) Researchers have studied whether one benefit of having some more trees in a neighborhood is a lower crime rate. 
B) A connection has been found between neighborhoods having too few trees and their having an increased level of crime.
C) An insufficient number of trees in a neighborhood has been found to be the main factor impacting the number of crimes.
D) Greener neighborhoods are healthier and safer than ones with too little green according to recent research.

13. Forests are of immense importance in soil stabilization and erosion control, especially in hilly and mountainous regions.
A) Forests in the hills and mountains are particularly valuable, so the soil must be stabilized and erosion must be ended.
B) Regions in hills and mountains certainly need to be looked after more carefully to save the soil and prevent erosion.
C) Forests have great value, particularly in areas with hills and mountains, as they keep soil in place and help stop erosion.
D) In places with hills and mountains, it is extremely important for forests to be planted in firm soil where erosion is under control.
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14. A tree is generally defined as a woody plant that develops along a single main trunk to a greater height; in contrast, a shrub is a woody plant with multiple trunks that grows to a lesser height.
A) Despite the fact that both trees and shrubs are woody plants, trees both grow higher than shrubs and are also unlike shrubs in width. 
B) Contrary to a tree, which is tall and has immense trunks, a shrub is short and has smaller trunks, yet both are considered to be woody plants.
C) Woody plants are either classified as trees, which grow with a single trunk to a considerable height, or shrubs, which have many trunks and grow to a large variety of heights.Trunk of a tree

D) While trees and shrubs are similar in being woody plants, they differ in height, with trees being taller, and in the number of trunks, with shrubs having more than one.

15. Temperatures in some urban areas have risen 3°C in the last 50 years as tree coverage has declined and the number of roads and buildings has increased.
A) Fewer trees together with more roads and buildings have led to a 3°C rise over the past 50 years in some urban areas.
B) Despite attempts to plant trees, a higher number of roads and buildings has caused a 3°C jump in 50 years in a few cities.
C) Some cities today are 3°C warmer than they were 50 years ago, but trees are still being cut down and roads and buildings are expanding.
D) The 3°C increase in some metropolitan areas has been a result of the higher number of highways and buildings, and trees can hardly survive in these conditions.

SECTION II – READING COMPREHENSION (30 x 1.5 = 45 points)
Read each text and choose the best alternative that answers each question.

Text 1	                              Man Who Saved the World from Nuclear War Dies 

1	On September 26, 1983, Soviet military officer Stanislav Petrov received a message that five nuclear missiles had been launched by the United States and were heading to Moscow. However, he didn’t launch a retaliatory strike against the US, believing correctly that it was a false alarm. With that, he saved the world from nuclear war. Sadly, Petrov died May 2017 at 77 years old.

[image: https://i.kinja-img.com/gawker-media/image/upload/s--B6YQpXwN--/c_scale,fl_progressive,q_80,w_800/igxmz4gl5gp6ob64fr4r.jpg]2	Lt. Col. Stanislav Petrov was 44 years old and working at a missile detection station south of Moscow on September 26, 1983. His computer warned him that five nuclear missiles were on their way to the city, and due to their quick flight time Soviet missiles needed to be in the air within 20 minutes or a counterattack would not be possible. However, Petrov told his commanding officers that it was a false alarm. In fact, he had absolutely no real evidence that this was true, just a strong feeling of doubt. “When the siren went off, I just sat there for a few seconds, staring at the big red screen with the word ‘launch’ on it,” Petrov said. “Although the data showed there was an incoming missile attack, something didn’t feel right. If I had sent the data on my screen up the chain of command, the military officers would have certainly launched our missiles. There was no rule about how long we were allowed to think before we reported, but we knew that every second of waiting took away valuable time from the military and political leadership. All I had to do was to reach for the phone and use the direct line to our top commanders, but I didn’t move. I felt like I was sitting on a hot frying pan.” 

3 	Petrov noted that he was the only officer present that day who had received a civilian education. All others were professional soldiers, and he believed that they would have simply reported the attack. The men around him were taught to obey and give orders. Luckily, Petrov didn’t notify his superiors about what simply didn’t feel right to him. Petrov guessed that if the Americans were going to launch a first strike they would send more than five missiles, although even five missiles could do an enormous amount of damage. He also believed that since the alert system was relatively new, it seemed likely that it could be sending a false alarm.

4	If Petrov had been wrong, he would have compromised the Soviet Union’s ability to take action against a nuclear strike. However, he was correct, and World War III was prevented. Sadly, his decision was neither the first nor the last close call that the world has seen. The Cold War saw far too many false alarms triggered by events such as a computer simulation in 1979 and a NATO military exercise in 1983, just two months after Petrov’s false alarm. There was also another one during the Cuban Missile Crisis of 1962 that was only prevented by a captain defying his given orders. It’s actually amazing that the world survived the Cold War. 

5	Stanislav Petrov has not received the recognition he deserves, but hopefully he will be remembered. Those of us living in the 21st century owe him a tremendous debt. We hope that the nuclear powers of the world learn something from his skepticism and heroism.


16. The word this in paragraph 2 refers to ----.
A) their missiles needing to be in the air within 20 minutes
B) Petrov telling his superior officers about the attack 
C) the attack being a false alarm 
D) the evidence that Petrov had

17. Based on paragraph 2, it is clear that ----.
A) the information Petrov received indicated that a missile attack had really begun
B) Petrov did not suggest a counterattack because he was against the use of nuclear weapons
C) Petrov had been trained to wait a certain period of time before ordering a counterattack 
D) Petrov had 20 minutes to decide whether or not to inform higher-ranking officers

18. From paragraph 2, it can be understood that the procedure to launch a counterattack was that ----.
A) the computer system automatically launched a counterattack, but Petrov could stop it
B) Petrov had the authority to launch an attack himself
C) Petrov had to inform higher-ranking military officers, who could start an attack
D) Petrov needed to call both military and political leaders, who decided together to launch an attack

19. According to paragraph 3, Petrov’s decision not to report the possible incoming missiles as real was affected by all of the following factors EXCEPT ----.
A) his educational background
B) comments of his colleagues
C) the reported number of incoming missiles
D) his doubts about the warning system

20. The word compromised in paragraph 4 could best be replaced by ----.
A) discovered 
B) considered
C) ordered
D) reduced

21. The main idea of paragraph 4 is that ----.
A) there were actually a number of situations that almost resulted in nuclear war
B) clearer measures to prevent false alarms were developed as the Cold War progressed
C) technical problems were the main cause of the false alarms that took place during the Cold War
D) the crisis in which Petrov was involved in finally led to more precautions to prevent a major war

22. Which of the following statements is TRUE according to the text?
A) Petrov received a warning that the five missiles that had been launched were all going towards Moscow.
B) Petrov was punished because he did not report the warning he received about a possible nuclear attack.
C) Both civil and military schools in the Soviet Union taught people to obey the orders that they received.
D) During the Cuban Missile Crisis of 1962, a captain ordered a nuclear attack.
 




Text 2			Homeless Cats Will Fight Rising Number of Rats

1	Complaints about rats have been on the rise in the American capital Washington, D.C., and the city has been looking for new ways to keep the rat population down. Gerard Brown, manager of the city government’s rat control program reports that calls complaining about rats to the city hotline are up by one third over the last three years, which Brown attributes to a number of mild winters. “Cold winters act as a natural exterminator,” he says. As a result, Brown convinced Mayor Muriel Bowser to respond to the growing complaints by declaring war on rats.

2	One solution is cats like Miso, a three-month old kitten with a tough job in front of him. Miso’s new home is a side street teeming with rats in the Columbia Heights neighborhood of Washington D.C. There are more than fifty trash bins on the street, and every one has a hole chewed through it. At night, dozens of rats dive into the holes to collect their dinners. M[image: F:\images.jpg]iso and cats like him have been brought in to help. Miso was born on the streets and brought to this neighborhood not as a pet but for a job. He’ll spend three weeks in a covered cage being fed and sheltered, which acts as an incentive to remain there once he’s released from the cage. At that time, if he follows the human plan, he’ll start catching rats. 

3	There are typically two ways to reduce the rat population. One is to limit rats’ food supply, which in cities means garbage. Ecologists would call this a bottom-up approach, cutting off the base of the food chain. There’s also the top-down approach: introducing a predator to kill the rats. In Washington, D. C., city workers are both deploying new rat-resistant trash cans and killing rats in their holes using dry-ice pellets that release carbon dioxide, so the city’s Rat Riddance program is attacking the rodents on both fronts.

4	Although they are not directly part of the city’s efforts, cats are also an effective way to fight the rat population. Miso is the 44th cat “hired” through the Blue Collar Cats program, which traps street cats, neuters and vaccinates them, and releases them back into their version of the wild: the streets of Washington DC. Homeowners or business owners agree to provide them food and outdoor covered shelter, and in return they are expected to exercise their natural instincts as predators. Cats hunt even if they’re fed, so the program discourages withholding food from the cats in the hopes that a starving cat will hunt more rats. “For me, this is primarily a lifesaving program for cats, and I want their quality of life to be sufficient,” says Lauren Lipsey of Blue Collar Cats. Since people are more motivated to care for cats that catch rats, her group has embraced the idea as win-win. What’s more, some alternatives, such as poisons that cause rats to slowly die of internal bleeding, are “horribly inhumane” to rodents and often accidentally kill pets and wildlife, Lipsey says. One recipient of a Blue Collar cat is pleased with the results. At the Right Proper Brewing Company in the Brookland neighborhood, bags of oats and malt attracted rats and mice until they got a Blue Collar cat. “We used to use a lot of traps and poisons, and they never worked,” says employee K.C. Pierce. “With the cat it’s 100%. I haven’t seen a rat here since we got him.”

23. The text mainly ----.
A) debates whether cities like Washington DC should use bottom-up or top-down approaches to reduce the rat population
B) discusses reasons for the increasing rat population in Washington DC and the lack of success in reducing it
C) gives details about a new approach being used in Washington DC to decrease the rat population
D) praises the success of the city of Washington DC’s program to decrease the rat population

24. The phrase teeming with in paragraph 2 could best be replaced by ----.
A) cooperating with
B) planning about
C) frightened by
D) crowded with

25. All of the following are mentioned in paragraphs 1 and 2 EXCEPT ----.
A) in the last three years, the number of people complaining about rats has increased significantly
B) the rat population is likely to increase if there is not a harsh winter
C) the three weeks Miso spends in a cage will be difficult weeks for the young cat
D) a cat being fed in captivity for three weeks in a neighborhood may encourage it to stay there when it is set free 

26. The phrase on both fronts in paragraph 3 refers to ----.
A) using both the bottom-up and top-down approach
B) attacking rats both in garbage cans and in their holes
C) reducing the amount of garbage and making garbage harder for rats to access
D) introducing two different types of predators to lower the number of rats

27. From paragraphs 3 and 4, the reader can understand that cats are an example of using ---- to reduce the rat population.
A) the bottom-up approach 
B) the top-down approach 
C) a combination of the bottom-up and top-down approach 
D) a different type of approach other than the top-down or bottom-up approach

28. According to paragraph 4, what do home and business owners need to do for Blue Collar cats?
A) Make sure that the Blue Collar cats are vaccinated and receive basic medical care
B) Guarantee close relationships between humans and the Blue Collar cats 
C) Reduce the expenses of the Blue Collar Cats organization
D) Meet the basic needs of the Blue Collar cats

29. In the text, which of the following people express(es) concern about the needs of cats on the street?
A) Gerard Brown
B) Mayor Muriel Bowser
C) Lauren Lipsey
D) All three of them


Text 3				The shorter your sleep, the shorter your life

1	Matthew Walker, a sleep scientist, is the director of the Center for Human Sleep Science at the University of California, Berkeley. The goal of this research institute is to understand everything about how sleep impacts our lives in diverse ways like weight gain and illness. “No aspect of our biology is left unscathed by too little sleep,” he says. “Yet, no one is doing anything about it despite all of its negative impacts.”

[image: C:\Users\Dan\Desktop\images.jpg]2	Over the last 75 years, the amount of sleep we get has decreased considerably. In 1942, less than 8% of the population was trying to survive on six or fewer hours sleep a night, yet almost one in two people is doing so in 2017. There are many reasons for this drastic change. “First, we electrified the night,” Walker says. “Access to artificial electric light has profoundly affected our quality of sleep. Another factor is work, due to the lack of borders between when you start and finish and the longer travel times. People working long hours don’t give up entertainment or time with family, so they give up sleep instead. Anxiety is another reason since we’re a lonelier, more depressed society. Alcohol and caffeine also play a part as they are more widely available, too. A final one is that sleep is often strongly associated with laziness. Although we make sure our children sleep enough, we think adults should be able to get along sleeping less.”

3	However, the evidence Walker presents about lack of sleep is enough to send everyone to bed early. More than 20 large scale studies all report the same clear relationship: The less you sleep, the shorter you live. To take just one example, adults aged 45 years or older who sleep less than six hours a night have been found to be twice as likely to have a heart attack or stroke compared to those sleeping seven or eight hours a night. Moreover, when you sleep less, you are more likely to gain weight. The main reason for this is that inadequate sleep decreases levels of the hormone leptin, which signals to your body that it is full, and increases levels of the hunger-signaling hormone ghrelin. Tiredness, of course, also affects motivation; tired people often fail to finish what they begin. Sleep has a powerful effect on the immune system, too. If you decrease sleep even for a single night, your ability to ward off illness is drastically reduced. Not sleeping enough over a long period of time has even more serious side effects: A number of studies have reported that night-time shift work increases one’s chances of developing cancer.

4	What can be done? First, people should avoid staying awake all night both at work and on the dance floor. After being awake for 19 hours, a person is as cognitively impaired as someone who is drunk. Second, they should start thinking about sleep as a required activity. “People use alarms to wake up,” Walker says. “Why don’t we have an alarm to tell us we’ve got half an hour until we need to be in bed?” Schools should consider later starts for students as such delays lead to improved IQs. Companies should also think about rewarding sleep because with more sleep productivity rises, and motivation, creativity and even levels of honesty are improved. A recently developed tracking device can measure how much people sleep, and some companies reward employees with time off if they get enough of it. Despite the many people who complain that technology ruins their sleep, Walker believes that it will eventually lead to better sleep. “We will soon know everything about our bodies from one day to the next, and that will contribute to developing methods to improve the quality of human sleep.”


30. The text mainly discusses ----.
A) why we slept more in the past than we do today and how people are adapting to getting less sleep 
B) research about the amount of sleep we get and the many effects that this is having in the workplace 
C) the lack of sleep we are getting, our need for more sleep, and the negative effects this is having on students
D) factors affecting how much sleep we get, the effects of insufficient sleep, and suggestions for increasing sleep

31. The word unscathed in paragraph 1 is close in meaning to ----.
A) unaffected
B) unbearable
C) uneducated
D) unconsidered

32. The word one in paragraph 2 refers to one ----.
A) reason for the increased use of alcohol and caffeine
B) reason for a decrease in sleep
C) effect of working long hours
D) effect of having better lighting

33. According to paragraph 2, it is TRUE that ----.
A) increased noise is affecting how well people sleep
B) people still spend time with their families even if they work a lot
C) having less social interaction generally decreases people’s level of anxiety 
D) adults do not give enough importance to children getting sufficient sleep 

34. The word ward off in paragraph 3 could best be replaced by ----.
A) catch
B) diagnose
C) resist
D) warn

35. Paragraph 3 mentions the impact that lack of sleep is having on all of the following areas EXCEPT ----.
A) lifespan
B) types of food that people eat
C) completion of a started task
D) life-threatening diseases

36. Based on the information in paragraph 4, which of the following statements would the writer of the article probably agree with?
A) The consumption of alcohol is having a large effect on the quality of our sleep.
B) Using alarms causes problems, so we should try not to use one if we do not have to.
C) Children’s energy levels drop in the afternoon, so they should not be kept at school very late.
D) People who sleep a longer period of time are more likely to tell the truth.

37. According to paragraph 4, ----
A) a device has made it possible to determine the amount of sleep a person is getting
B) some companies set their wages based on how much sleep a person gets
C) Walker agrees with the many people who think technology harms the quality of sleep
D) Walker believes that devices give a lot of information about sleep but fail to increase sleep quality


[image: The &quot;CityTree&quot; has the same environmental impact of up to 275 normal urban trees. Using moss cultures that have large surface leaf areas, it captures and filters toxic pollutants from the air. ]Text 4 	    A 'Tree' with the Benefits of a Small Forest

1	Air pollution leads to serious consequences. It causes seven million deaths a year, which makes it the deadliest of all types of environmental pollution, yet according to the World Health Organization (WHO) much more money is being spent to purify water. More than 80% of people living in urban areas where pollution is monitored are exposed to air quality levels that exceed WHO limits. Since two-thirds of the global population will be living in cities by 2050, cleaning up urban air is a matter of great urgency.

2	One well-established way to reduce air pollutants is to plant trees as their leaves catch and absorb harmful particulates, but planting them in urban areas is often extremely difficult on account of a lack of soil and space, so it is not always a viable option. That's why "CityTree", a mobile installation which removes pollutants from the air, is being tried in cities around the world, including Oslo, Paris, Brussels and Hong Kong. A CityTree is about 4 meters tall, 3 meters wide and 2 meters deep and available in two versions: with or without a bench. A display is included in both for information or advertising. Berlin-based Green City Solutions claims its invention provides the environmental benefits of 275 real trees. A CityTree isn't a tree at all; in fact, it's a type of moss, that is, a tiny, leafy, flowerless plant. "Moss has a much larger leaf surface area than any other plant; thus, it captures more pollutants," said Zhengliang Wu, co-founder of Green City Solutions. The moss in CityTrees removes nitrogen dioxide and ozone gases as well as dust from the air.

[image: A CityTree in Brussels, Belgium.]3	After Green City Solutions installs a CityTree, which costs about $25,000, the “tree” quickly justifies its price. For one thing, it requires little maintenance: Solar panels provide electricity, rainwater is collected into a reservoir and then pumped as needed to maintain the moss, and sensors measure soil humidity, temperature and water quality, enabling them to monitor the health of the moss. In addition, pollution sensors inside the installation help track local air quality. Most importantly, each CityTree is able to absorb around 250 grams of particulate matter a day and contributes to the capture of greenhouse gases by removing 240 metric tons of CO2 a year.

4	The story of the CityTree started 11 years ago. Studying at Dresden University of Technology, Wu became close friends with Victor Splittgerber, another mechanical engineer, and Dénes Honus, an architect. After graduating, they ran a workshop on sustainable urban design focusing on new ways to tackle environmental problems in cities. That’s where they met Peter Sänger, a graduate in production management for horticulture and combined their different areas of expertise, creating the CityTree project.

5	However, Gary Fuller, an air pollution expert at King's College London, thinks that an urban air purifier might be ineffective. "Even if you design the perfect air cleaner, getting the air from vehicles in contact with it is really hard," he says. "Pollution from vehicle exhaust quickly gets dispersed, making it difficult to trap. Efforts might be better put into stopping this type of pollution from forming in the first place; for example, I’d suggest developing cleaner city buses," he added. CityTree inventors say that they are aware of this issue and choose the location of each CityTree carefully. Wu said, "We pick spots where pollution is heavy due to traffic. We are also going to come up with a ventilation system to create air flow that pulls pollution to the CityTree." He also argued that the CityTree is just one piece of a larger puzzle. "Our ultimate goal is to incorporate technology from the CityTree into existing buildings," he said. "We dream of creating a climate infrastructure regulating what kind of air we have in a city."

38. Which of the following is stated in paragraph 1?
A) Although the effects of air pollution are hard to see, a total of 7 million people have died due to it.
B) More money is spent on overcoming water pollution although more deaths are caused by air pollution. 
C) The air in about 80% of the world is checked by the WHO, and the air quality is often poor.
D) The more people move to cities, the worse air quality will become.
 
39. The word viable in paragraph 2 is closest in meaning to----.
A) affordable
B) flexible
C) possible
D) responsible

40. According to paragraph 2, which of the following is FALSE about CityTrees? 
A) It is possible to move them around.
B) So far, only four cities have tested them.
C) They only come in two styles.
D) They can be used to promote products.

41. What is the main idea of paragraph 3?
A) The benefits of CityTrees
B) The reasons that CityTrees are easy to maintain
C) Whether CityTrees are too expensive
D) Whether CityTrees can have an effect on global warming

42. According to paragraph 4, the CityTree project ----.
A) began due to an idea that came up while Wu was studying at Dresden University of Technology
B) was first publicized at a workshop after Wu graduated from university
C) was Peter Sänger’s idea, but he needed others to help him design it
D) includes people with interests in three different fields

43. The phrase this issue in paragraph 5 refers to ----.
A) the design of the perfect air cleaner
B) the difficulty of trapping pollution from vehicle exhaust
C) the efforts being made to stop pollution in the first place
D) the development of cleaner city buses

44. According to paragraph 5, in the future the inventors of CityTree will ----.
A) develop a method for making air currents which will cause dirty air to move toward CityTrees
B) debate people who are unwilling to make use of CityTrees
C) replace current buildings with high-tech buildings that include the technology used in CityTree
D) work with government agencies to create laws that require cleaner air
 
45. Which of the following is NOT stated in the text?
A) The city with the most CityTrees
B) How a CityTree compares to a normal tree in reducing pollution
C) The amount of CO2 one CityTree can remove
D) [bookmark: _GoBack]An alternative to CityTrees for reducing air pollution
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